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. 772 nwu? NN M 0”71 YN writes that we teach her to say no. Is this only applicable in this case of

NYUN X7 nNiT nwu? Why can’t we say the same in a case of DIA where it’s |'IN7 '2''N, and the XA says
that it’s "N because of nwun X7 nnIT nwy. Why don’t we tell her to say no, and thereby avoid the
problem?

Further to the above why didn’t "”vn just explain the 8102 as a situation of Dnnaw 0"p? "wan? Why do
we need to give her instructions?

. The mwn says that we know from the pioa of nwx? n'nn 171 that she needs to be 17 n'Ix1. Why didn’t

the N2 use this nwNT to answer the question of nwun X7 nNIT nwy?

N7 701 'wa 'NT N”T1”wN writes Nk nwTR?. Why does he need to use nn'a for the 'wIT'p, once she is
married she will become a n71v2?
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If you have any comments or suggestions, please email me at
Ygrunhaus@gmail.com
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